


SLIDING WETROOM INSTRUCTION

|  COMPONENTS AND BOX CONTENTS |

56 31302928

22 23 24

25

1
2
Y
- 4
7
Ty
3 ~
-
8 o~
® 2 20
9 ——————————————————————————————————— S
~
10 LN
11
12
19
13 18
‘ 17
16
¥ 15
3 14
Box Contents
No. Description Qty | No. Description Qty
1 Wall Profile Top Cap 2 18 Bottom Rail End Fixing Screw Cap 1
2 Wall Profile 1 19 Roller Set 2
3 Fixed Panel 1 20 Handle 1
4 Door Panel 1 21 Support Arm Wall Fixing 1
5 Closing Bubble Seal 1 22 ST Screw 4x30 1
6 Fixed Panel Fixing Seal 1 23 Allen Grub Screw M5x6 1
7 Vertical Seal(Optional) 1 24 Wall Plug 1
8 Wall Plug 4 25 Glass Clamp 1
9 ST Screw 4x30 4 26 Grub Screw M5x6 1
10 Bottom Rail End Cap (L/R) 2 27 Grub Screw M10x 6 1
11 Bottom Strip 1 28 Soft Head 1
12 Bottom Rail 1 29 Grub Screw M10x6 1
13 Bottom Strip End Cap 1 30 Stopper Screw Cover 1
14 Bottom Rail End Fixing Soft Head 1 31 Roller Stopper(L/R) 2
15 Wall Plug 1 32 Support Arm Tube 1
16 Bottom Rail End Fixing(L/R) 2 33 Glass Clamp Screw Cap 1
17 ST Screw 4x40 1




FIXING KIT COMPONENTS, SITE CONDITIONS
SLIDING WETROOM

FIXING KIT

e ™
Support Arm x1 @ @ .

Wall Proflle Top Cap Roller Cover Cap

Closmg Bubble Seal

S . | | N Handle Bottom Strip End Cap Bottom Strip End
upport arm glass clamp x x1 L/R x1 Fixing x1

Wy
(f 4(\((6((7(@

Screw ST 4X30  Screw ST 4X40  Wall Plug  Fixed panel Fixing
x5 x1 X6 Seal x1

Wall Fixing x1

Allen Screw M5 x1
Allen Screw M10 x1
~ Roller Stopper Roller Stopper L/R Soft head
AN | Glass Clamp Cover Cap x1 Cover Cap x1 x1
x1
\ J L J

IMPORTANT - Missing Components
Please check this product for missing components prior to installation.

For spare parts visit www.aquadart.co.uk

IMPORTANT - Installation site
1. Ensure the top surface of the shower tray on which the enclosure will be installed is level in every direction.
2. The tiles or other wall finishing should be effectively sealed at tray edges.

3. Tiles should extend at least to the corner of the tray and a minimum of 2.0 meters from the top of the tray.

PROCEDURE

TRAY MUST BE 100% LEVEL IN ALL DIRECTIONS

Ensure the shower tray is level in all directions and is
properly sealed to the wall. The wall must be tiled down to
the top edge of the tray. Do not angle out bottom tile.

#o

100% level

1 TRAY MUST BE SEALED FULLY AROUND WHERE THE
TRAY MEETS THE WALL.




pueH a7
pueH 146y

Note:The product can be constructed either way up, for left or right hand opening.This instruction is showing a Left
hand opening

- J

Step 1.1 Fit the Bottom Rail End Cap L/R (Part 10) on the wall profile (Part 2) from the bottom. Place the Wall Profile onto
the tray, roughly 10mm away from the front edge of the end cap. Level the Wall Profile using a spirit level then
mark the profile through the pre-drill holes on the Wall Profile. (Diagram 1.1).

Note: Ensure the channel with the pre-drill holes is facing outwards when placing the Wall Profile onto the tray.

Step 1.2 Remove the wall profile and drill the marked points using a 6mm masonry drill bit.(Diagram 1.2)

Step 1.3 Insert wall plugs(Part 8) then secure the wall profile onto the wall using ST4X30 screws x4 (Part 9)(Diagram 1.3)








































































